ITANEAAAAIKEX EEETAXEIX 2024

IHPOI'PAMMATIXMOX YIIOAOI'TXTQN
EIAIKOTHTAX
AITANTHXEIX

OEMA A

Al

0. 2QXTO  B. AABGOX  y. AAGOX

A2.
D B
2) ot
3) o
4) v
5 «

OEMA B
Bl.
def trim_a(s1):
s2=""
for char in s1:
if char not in "aA":
s2+=char
return s2

B2.
@) 73,181, 145,98
B) 73,29, 12

B3.
i=0
while i<10:
j=10
while j>-1:
print i*j
j=1
i+=1

OEMA I

#OEMA T
Diagon=0
Prokr=0
max=0

ON=raw_input('A®c€ OVOLATETM®VLLO')

while ON!="TEAOZX":
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Diagon+=1
EinaiKato12=FALSE
SUM=0
for i in range(10)
grade=float(input('A®ce Pabuoroyia'))
while grade<1 OR grade>20:
grade=float(input('AaBog! ZEavadmce Pabuoroyia'))
SUM-+=grade
if grade<12:
EinaiKato12=TRUE
MO=SUM/10
print("TeAum Pabuoroyia ',MO)
if MO>15 AND Not(EinaiKato12):
print('TIpokpivecar otnv emdpevn edaon!')
Prokr+=1
if MO>max:
max=MO
ON=raw_input('"A®ce eMOUEVO OVOLATETMVLLO')
print('Meyardtepn teAikn| fobpoioyia: ',max)
POS=float(Prokr)/Diagon*100
print('TIpokpinke to ',POS,'%)
#END

OEMA A

#OEMA A
#AL.
ON=(]
file=open("branch.txt","r")
for line in file:
ON.append(line)
file.close()
#A2.
N=len(ON)
S POSO=[]
for branch in ON:
SUM=0
for i in range(30):
eispr=float(input('Adoce eionpatn'))
SUM-+=eispr
S POSO.append(SUM)
#A3.0
SUM=0
for poso in S POSO:
SUM+=poso
MO=SUM/N
print('Mécog 6pog lovviov: ',MO)
#A3.
Plithos=0
for poso in S POSO:
if poso>=MO:



Plithos+=1
print(Plithos,' eiyav slonpdaéelg peyorvtepeg 1 ioeg 1o MQO')
#A4
for in range(0,N-1,1):
for j in range(N-1,1,-1):
if S POSO[j]>S_POSO[j-1]:
S _POSOJj], S_ POSO[j-1]=S_POSOJ[j-1], S_POSO[j]
ON[j], ON[j-1]=ONTJj-1], ON[j]
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else:
if S POSO[j]==S_POSO[j-1]:
if ON[j]<ONT[j-1]:

ONTj], ON[j-1]=ON[j-1], ONTj]
#END
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